11095041

Headstock

BARFR

EHETL
INDEX TRAUBF=f,

65 mm

ABC

INDEX


https://ixshop.ixworld.com:443/cn/zh/Exchange-spare-part/Other-assemblies/Headstock/p/000000000011095041

11095041 INDEX

Xt

fe

A
Schweiger

Cable

fmlD 10840065
LR~ 54ID - 383131.1600

RSB Tk AR BE (1K) 5ME (mm)
E% 16 Square millimeter 300 Volt * 750 Volt 8.8 Millimeter
Be/EA LR
PVC
Plug

fulD: 10601867
PLETH = 5aID - 483241.0251

RS KE (mm) o (mm) HEIE /BE (ST)
&k 20 Millimeter 18 Millimeter 5 Piece

fl kI /A A BhinEek
M12 IP67

Core cable end

PhmlD 10931386
PLETH = 5nID - 483554.16

AL KE (mm) TR A AR SR -4R®
Zunin T 12 Millimeter 16 Square millimeter
Cable shoe

mmlD 10308963
PLETH = 54ID © 483505.0621

RS KE (mm) TR E AR SR-RE
ZRumin L 27 Millimeter 16 Square millimeter


https://ixshop.ixworld.com:443/cn/zh/Schweiger/Cable/p/000000000010840065
https://ixshop.ixworld.com:443/cn/zh/Schweiger/Plug/p/000000000010601867
https://ixshop.ixworld.com:443/cn/zh/Schweiger/Core-cable-end/p/000000000010931386
https://ixshop.ixworld.com:443/cn/zh/Schweiger/Cable-shoe/p/000000000010308963

11095041

Rubber Seal

hnlD 10271812
LRI 541D - 483024.8001

RSB W12 (mm)
PR, #HEN 9 Millimeter

Plug

mnlD 10202926
PLETH = 5aID - 483645.1615

RSB N2 (mm)
BEArESL . HE O 16 Millimeter

Cabel coupling

FhnlD 11072780
DLETH = 5aID © 483689.3215

FASZAH N2 (mm)
ESTESL . B 21 M|II|meter
22y )

&R

Cabel coupling

fmlD 10848666
LRI 541D - 483689.4015

FRSLEH 12 (mm
W2Lrsesk, RO 28 Millimeter

Plug

hnlD 10500152
PLETH = 5aID - 483645.4015

FRSAG N2 (mm)
BEAIESL . & O 40 Millimeter

HABMF

P
FKM

SMZF (mm)
22 Millimeter

M2 (mm)
36 M|II|meter

4MZ (mm
45 Millimeter

SMZ (mm)
46 Millimeter

o]
Bt

INDEX

BrisEk
IP68 / IPx8

288
EA

28
28

3/6


https://ixshop.ixworld.com:443/cn/zh/Schweiger/Rubber-Seal/p/000000000010271812
https://ixshop.ixworld.com:443/cn/zh/Schweiger/Plug/p/000000000010202926
https://ixshop.ixworld.com:443/cn/zh/Schweiger/Cabel-coupling/p/000000000011072780
https://ixshop.ixworld.com:443/cn/zh/Schweiger/Cabel-coupling/p/000000000010848666
https://ixshop.ixworld.com:443/cn/zh/Schweiger/Plug/p/000000000010500152

oL23041202 INDEX

Seal 2x98x112

FeEmlD 10217882
PLETH = 5aID © T91041.50

Cable strip cabinet

fmlD 10083819
LRI~ 54ID : P61001.20

Socket head screw M 6x 18

fnlD 10369026
PLETH 54D - 410260.0618

Washer A 6,3 A2K

mmlD 10512443
PLATE = 54ID - 419875.06

Washer B 6,4 A2K

mnlD 10343786
PLATE = 540ID - 419012.06

Lens head screw M 6x10/T30 verzinkt

FhnID 10956775
PLATE = 55ID - 410243.0610

Cover

41D 12025096
ARTER=4a1D -

Washer B 5,3 brueniert

inlD 11076821
PLETH = 5aID : 419010.05

4/6


https://ixshop.ixworld.com:443/cn/zh/c/Seal/p/000000000010217882
https://ixshop.ixworld.com:443/cn/zh/c/Cable-strip-cabinet/p/000000000010083819
https://ixshop.ixworld.com:443/cn/zh/c/Socket-head-screw/p/000000000010369026
https://ixshop.ixworld.com:443/cn/zh/c/Washer/p/000000000010512443
https://ixshop.ixworld.com:443/cn/zh/c/Washer/p/000000000010343786
https://ixshop.ixworld.com:443/cn/zh/c/Lens-head-screw/p/000000000010956775
https://ixshop.ixworld.com:443/cn/zh/c/Cover/p/000000000012025096
https://ixshop.ixworld.com:443/cn/zh/c/Washer/p/000000000011076821

11095041
GL2304.1202

Lens head screw M 5x12/T25 verzinkt

7eimlD 10843957
DLETHY = 5aID - 410243.0512

hollow chuck clamping cylinder

AulD 12077978
ARTER=4a1D :

Cylinder head screw M 8x 40

fnlD 10675076
DLETH 541D © 410260.0840

Socket head screw M 8x 30

mnlD 10518676
PLATE 541D - 410260.0830

Plate 45x23x8

mmlD 10908111
PLATE 541D - L61001.50

Screw cap 10L G1/4Z-WD Schwenkversch DKO

FhnID 10464117
PLATE = 541D - 471657.10

Screw cap 10L R3/8Z-WD Schwenkverschrbg

mnlD 11027489
DLETHY = 5aID © 470659.1002

Pressure tube

P“hmlD 0 10689633
PLETH = 5aID 0 L71512.90

INDEX


https://ixshop.ixworld.com:443/cn/zh/c/Lens-head-screw/p/000000000010843957
https://ixshop.ixworld.com:443/cn/zh/c/hollow-chuck-clamping-cylinder/p/000000000012077978
https://ixshop.ixworld.com:443/cn/zh/c/Cylinder-head-screw/p/000000000010675076
https://ixshop.ixworld.com:443/cn/zh/c/Socket-head-screw/p/000000000010518676
https://ixshop.ixworld.com:443/cn/zh/c/Plate/p/000000000010908111
https://ixshop.ixworld.com:443/cn/zh/c/Screw-cap/p/000000000010464117
https://ixshop.ixworld.com:443/cn/zh/c/Screw-cap/p/000000000011027489
https://ixshop.ixworld.com:443/cn/zh/c/Pressure-tube/p/000000000010689633

11095041
GL2304.1202 I N D EX

Housing

D 10822526
LRI 541D L31501.60

Ring D165XD193X5 fiir D60 und D65 SPZ

mnlD 10426949
LRI~ 541D : L61071.50

Pipe connector GE10-LR-ED/OMD 203

FeEnlD 10477756
PLETH 541D - 470607.10

Pipe connector EW 10-L/OMD 310

mmlD 11037530
PLATE 541D 470600.10

Connection piece 10L DKO/CE 45 GRAD

mnlD 10271573
PLETE = 540ID - 470520.1045

6/6


https://ixshop.ixworld.com:443/cn/zh/c/Housing/p/000000000010822526
https://ixshop.ixworld.com:443/cn/zh/c/Ring/p/000000000010426949
https://ixshop.ixworld.com:443/cn/zh/c/Pipe-connector/p/000000000010477756
https://ixshop.ixworld.com:443/cn/zh/c/Pipe-connector/p/000000000011037530
https://ixshop.ixworld.com:443/cn/zh/c/Connection-piece/p/000000000010271573

